> NewHouseFit=lm(log(Salesprice)~SquareFt+AC+Quality,data=HouseData)

> summary(NewHouseFit)

Call:

lm(formula = log(Salesprice) ~ SquareFt + AC + Quality, data = HouseData)

Residuals:

     Min       1Q   Median       3Q      Max 

-0.61638 -0.12681 -0.00927  0.12121  0.71397 

Coefficients:

              Estimate Std. Error t value Pr(>|t|)    

(Intercept)  1.216e+01  8.310e-02 146.327   <2e-16 ***

SquareFt     3.445e-04  1.715e-05  20.086   <2e-16 ***

AC           5.361e-02  2.568e-02   2.087   0.0374 *  

Quality     -2.512e-01  2.012e-02 -12.485   <2e-16 ***

---

Signif. codes:  0 '***' 0.001 '**' 0.01 '*' 0.05 '.' 0.1 ' ' 1 

Residual standard error: 0.1999 on 518 degrees of freedom

Multiple R-Squared: 0.7868,     Adjusted R-squared: 0.7855 

F-statistic:   637 on 3 and 518 DF,  p-value: < 2.2e-16 

plot(NewHouseFit$fitted.values,NewHouseFit$residuals)

> anova(NewHouseFit)

Analysis of Variance Table

Response: log(Salesprice)

           Df Sum Sq Mean Sq  F value    Pr(>F)    

SquareFt    1 68.435  68.435 1712.293 < 2.2e-16 ***

AC          1  1.716   1.716   42.929 1.372e-10 ***

Quality     1  6.229   6.229  155.863 < 2.2e-16 ***

Residuals 518 20.703   0.040                       

---

Signif. codes:  0 '***' 0.001 '**' 0.01 '*' 0.05 '.' 0.1 ' ' 1 
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	> Xh=c(1,3000,1,2)

> Yhat=t(Xh)%*%NewHouseFit$coefficients

> Yhat

         [,1]

[1,] 12.74458

> s = sqrt( t(Xh) %*% vcov(NewHouseFit) %*% Xh )

> t <- qt(0.975, 518)

> t

[1] 1.964554

> c(Yhat-t*s,Yhat+t*s)

[1] 12.71679 12.77237

> spred=sqrt(0.040+s^2)

> c(Yhat-t*spred,Yhat+t*spred)

[1] 12.35069 13.13847
Transforming to original units:

Pred price = exp(12.74458) = $342,689
C.I. for E{Yh} is $333,297 to $352,346
P.I. for Yh(new) is $231,119 to $508,119


